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Symmetry group
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2
Qn:{zEC|z":1}:{cisik k:(),l,...,n—l}
n

2
NN 2, MmO .Q, = (w,) YIP) w, = cis— PO ox .C* 5v nMan-nNn n
n
Y Pand 210 Qg Ny DX N ORTD w, T DY NI OPN NMNMNANTNN
JYOPN MINAIPY MMaNN

[e.o]

AN s = U 2, DN VN NP NN YO0 L(ODTD) 3.5 DN

n=1
(NN NION2 XD NN MMAN TIR) .99 »2)0 NN NN O .1
L0910 91701 NN Q-2 AR DD M) 0 () < 00 ,x € Qo 99 2

TN NN O .3
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Torsion group

(External) Direct

product

J7MN0D N3N OONRNP PN AITON NIN TN 9D NAY 1D NNaND

25 990 .C* 5w NMan~NN NNV ONY MR T DY MAan NN o L1

NMANTNN XIPN) NNIANTNN NN TPHAN 1NN OV HIND ITON DIDVND GOIN
970N DIDVND DO NN PYTI NPON NNV DN L NITIN A0 (o

120 195 ,C* mdoann nMmann Sv '.o
g1, g2 € VIV NP> RO NN PN |1 € Q2D MO :NATHN 29D YNan 19N
I,k € Z may 1m0 .gs € Q, ,g1 € Q,, DNAYY M, n DNI”P PO Ny

OMININ
. 27k C2ml
g1 =cas——-, g2 — CIs——
m n
AP
2rk 2wl (27rk m)
g1g2 = cis—— - cis— =cis| — + —
m n m n
27 (k l
s (M) ca. ca.
mn

g e, COy DIIN,g €, OX NV NN NN 229NY MIID
NV TINMR ,INY 255 191N, MNAN NIYIY DOV TIRY 727D )0t ¥ ON)
(.NMan N, MmMan by

o) <n 3o .z e QM n ovp z e Qy, 935 .

Qe TN N0 N Qg DY NPOPINN MMIAND~NN YD ,0TIPN Pyon a0 .

AN NNXD INY NNV 12N KD 1997, TPD1N

MYAN YV N NYaan

IMINS

3.2

SY MDaon Y515 ,1an DNAND .MNYP MMANN MYTN MNAN DY NN M2
MDA DT NPPORNNN 1 NN (H, @)1 (G, %) NYNN .MM 0 INY

GxH={(g,h)|geG heH}

MDD ,209-207 G X H Yy © nYIye 1) 3.6 2WYV

(91, 1) © (g2, ha) = (91 * g2, h1 ® hy)

AN CHA G OY (MR WD D79300 INIPIN NN N0 (G X H, ©) N
(eg,em) M0 G x H-2 nron
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0waN NN 0T .C* X Zg Yy Yonv) 3.7 Nt

(—i,2) ® (4,7)
(54 3i,1) ®(2,2)

(—i-4,247)=(1,1)
(54 3i)-2,14+2) = (10 + 64, 3)

.(1,0) NN 197030 NN

22v1a - DX DY ,©-2 G X H S¥ nYyan DX 1905 O01pna ,»voyn (3.8 D
NN

2(n > 2 MAY) OIS Z,, X Ly DR 3.9 99390

JON i ANY 939 NN (a, b) € Zy, X Zp, AR 92 9Y ATONY MO IND NN
(a,b)" = (a,b) - (a,b)---(a,b) = (a+---+a,b+---+b) = (na,nb) = (0,0)

m < n n1dna ,(a,b)™ = (0,0) yAYY m OYNN 90NN NN ITONY NP
NP OO0 NN Zy, X Zip-2 DR DD DY 9TON N0

N |Z, X Zy| = 0% 070 N ON AN RN AMNAND D PPOY Ny
7NN 991 ,MD PR TN .n? TN DN N RO AN Z, X Z, NNMann
JDOON NN

JPOPN NAONA NP NPOPPY MMNIAN DY DDAV IDIN OTIPN 99NN .3.10 WD
JPDAN NINYI NPOAN MMNIAN DY ND9ON NN NMYD

MHVPON HNAND N 3.3

Symmetric group N 7 DNTO IMVDIDD IN3ND L3.11 NN
Sn={o: {1,2,...,n} = {1,2,...,n}| o is bijective}

- MINX YN ,mxyo {1,2,...,n} NNHAPIN S Y'NNN MPRYNN 95 GOIN Nt
N2Yan AWNd ,NMan 0 S, {1,2,...,n} 079000 SV ATON MPY DI qOIN
NIPY S, DY AN DD MMN IONPNS NIN DTN DR LNPEPNS NN NN
Permutation AONDN

oy XX Nmna o900 nMan prTa Non S, NMaANN (0 v ON) 3.12 YD
X ={1,2,...,n} 99N> ,n2590N NNy

0(2) =7 ,0(1) =i NN NN o € S5 TN S5 NN IONTI NP*3 .3.13 NN
MNYPA IO D Mo i, 5,k € {1,2,3} AN 0 (3) = kA

123
i j ok

g =

:93-21 DINN YD AN YNHNIA N
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Cycle

Length of a cycle

Disjoint cycles

id = 1
1 3
2 3
T = 2
2 3
2 3
o= 3
2 1
9 1 2
O =0go00 = 4
3 2
3
OT =00T = .5
3 1
1 2
TO=TO0C0 = .6
1 3 2

TR S,-9 MIRY? 99 DY \ROD .07 # 70 D VIR IR S3-¥ 37 DWW .3.14 WP
V3R N7 RN D 1 > 3 9% I

N0 o (1) N N IMAVARD 190N 1PN .|S,| = n! NN ATEN 315 2w
TY L, 0VON 15 0 — 1 N0 o (2) IR NN DMIVARD 190N T NN .1
;290 702 39N ROV PINKRD ADRD 1 NN 0 (n) AR NMNAD NMIVIRD 19010V

ASul=n-(n—1)---1=n!

SY MAabNN DY TNN DIYN NINNN NN NIN S,-2 (WY IN) INNY .3.16 DTN
LDNNYY DXNOYI DM9DNN INYY @1 > Ao H> Ag > -+ - > A —> a1 DY D900
(a1 ag ... ag) MANN SV WD (a1 ag ... ap) NP RN NN IR ©AMD

Kk Non

25 wovw (12 3) Mmnnn N0 3.13 NTA NIANOY o € S3 NINNN L3.17 NNt
MM NNNA 1T NOV

1 2 3 4

DMNN DR P80 (45 2) mnnn ,S5-2 .3.18 DNt
1435 2

DINAHV'I THNDD IWKRD DN DINRNY NIDWD DMND7 TN DNWDN 7D .3.19 vovU»
IOIPY AR DHYY TOY GIIYY 19DV BD? PRY BINRND RO "oy

DY O2IWN 192 ,(2WTN) Nt DY T OAONNN O DINNNY 20 MY .3.20 TIYD
NNIOVND NMINN DY DNWN IWNRND INY DOP DY P DINNN
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1 234567
D .o = :S7-2 INAN MDD DY DOND) L3.21 AT
4 7315 26

IMNND DY NIAYD DNNMY ,I9010 DNPIY D0 DINNN NYAOND NMNX IND
DWVNd Ja Nnnn
l—4—1

DN ,Td 2w Nyd (1 4) MNnn IR 1D P DMNN T DY NNOI TN
PINN 790100
2762

,0NNYY OO DIDNN INYY 10 DWY .NNOA (27 6) MNP DX YIP) N
P9 55,3 300
=(14)(276)

NoWN o2 N9 71729 19010 95 Yy Mayd ,N7THNN 299 N9 AN .02 NN 2WN)
22P) ,0295NNN O DIMNNY NP [ DIN HNIN

o2 =((14)(276))>=(14)°(276)°=(267)

WA YN 4

mponn 4.1
VI L9 € G 930 .nman~nn H < G onm ,nan G onn 4.1 DN
Left coset gH ={gh|h € H} C G »n H 33 g 99 MIRDVD dpnon e
Right coset Hg={hg|h € H} 20 H 337 g 79 MDD dpInvn @
G /H y0) nrHNnvn mponnn qoiN Nx
NMNaNN~ NN Yy YonoN ,G = S3 NN NP2 4.2 NPT
H=1{(123))={id, (123),(132)}
:G-1 H 5v nvd xnwn mponnn

idH = {id, (123),(132)}

(12)H ={(12),(23),(13)}

(13)H={(13),(12),23)}=012)H
(23)H=A{(23),(13),(12)}=012H
(123)H ={(123),(132),id} =idH
(132)H={(132),id,(123)} =idH

Ay
Ss/H ={idH,(12)H}
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:H = 5Z 5w nvORnvn mphnnn Yy 9onon G = (Z,+) DN NP2 4.3 nnnt

0+H=H=1{..,-10,-5,0,510,...}
1+H={.6-9-41611,...}

24+ H={.,6-8-32712,...}

3+ H={. 6 -7,-23813,..}

A+ H={.,—6,-14,914,. ..}
5+H={.,-50,510,15,...} =H
6+H=1+H

T+H=2+H

DV ,Z-2 BZ 5% NYONNY MPoNN wnn ¥ 00N T2 .ARDD 1)
7/572 ={H,1+ H,2+ H 3+ H, 4+ H}

H = (2) ={0,2,4,6} 9y 9onon ,G = (Zsg, +) DR NP2 (2t v ON) 4.4 D0NT
1N NYORNYN MPONNN

0+H=H, 1+H=1{1,357,2+H=H

2995 191N

H, if a=0 (mod 2)
a+ H =
1+ H, if a=1 (mod 2)

.G=HU(1+ H)-v 25 0w

(NVPIPN IN) NVPORNYA MPONHNN NNSIY MNXDNTIN MNXRID JNNIY 29D 4.5 DIYD
oM L,T0 Oy QO LG OV gy vy H < G nmanTnn by

a~gb<— aH =bH

NNt 0503 .G Oy MDPY 0NN a, b € G OIDN Y DV MPONNN P2 1PNV DY
(N2 VOYNN NAYA

W .a, b€ G YW MYININ H < GHon DN GO L(NIRNIN) 4.6 VOV

a€ HoxpnoxaH =H v9a b lace Hox pnoxaH =bH .1

aHNbH = 2 wWaH =bH o»pnn bH-Y aH mponn »nv 530 .2

O TINNON U gH = G :nann Yo N0 MpoNnn 90 Sv TinNn .3
gHeG/H
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PYNIND PYON DR P NON .DTTA NPPONNNNA DN NYYND Nt (NMRYINA) DN

DTN AN NAY V191 .ah € bH b € H 999 nR aH = bH or :(«)
NI5N2 Y ,a = bhy € H-v 75 hg € H 0”pv yan XM .a = ae € bH
bla = ho € H

.a = bhy 39 .b7ta = hy-v 75 ,hy € H 0»p nx b~ ta € H-v non (=)

ON DA .aH C bH Y95 ,ah = bhoh € bH-v o»prmm h € H 935 ,nny
00 .bH = aH non23y9Y .bH C aH-v 19N IMNA 9apn b = ah; ! 7X ,a = bhg

{gH | g € G} nvORnYN MPSNNN P2 53 Y/NN INRNN NNYP L(MRYINI) 4.7 DIYD
(Hgw— g~ 'H) »a5 {Hg|g € G} nvmd

gHw— (gH) ' ={(gh)"" |he H} ={h ‘g7 |he H} ={kg' |k e H} = Hg™"
DI MPONNN 190N MY NPONNPYD MPINNN 190N 129

NIPY M 1900 G H] yoa G-2 H Sv mponnn 1901 DR D) .4.8 1910
Index of a .G-2 H 5% DpIORd

subgroup
APNIY MINDONTH 29 DY 4.9 DT

[Z:5Z) =5 1
1Sy ((123))] =2 2
Zs:(2)] =2 3

,2INY JOP DPTIRIY 933 .ANANN~NN 5T T NN [G : H| OPTYRD .4.10 DD
[G :A{e}] = |G [G: G] =1 on ppn »pn any 9T H nMmann~nn 7o

|G : H] = 0co-v 75 ,H < G nMman-nm G nMan Xy .4.11 90

H =7 nman-nm G = (Q,+) »nn .o
YN DIDNY MPYHNA a1 a5 0 pa o o, ay € Q 012w Nv NP
-v Dap) oY

{1+ 0,00 £ 1,1 +£2,...} =1 H #aoH ={as+0,as + 1,00 +2,...}

,1 925 0 2 Q-2 ©1901n0 mnod mnad X0 G-2 H 5v mpbnnn 1901 )09
JPDYN NIV
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IR vavn 4.2

a € GY39 jaH| = |H| o7pnn .nman-nn H < G onm nan G onn .4.12 twyv
VAVYNN NR D2APY TN IR ,G DY DN’ SV MDPY MpPoNN NN 10 MPYNNY »oan
N2 2NN

Lagrange’s |G =[G H]-[H| ™ 2Wannn H < GHom anan GOon L(1NDD) 4.13 0ovy

theorem

N3N Y ATOD DR PIND ININHN 2V ATOD  TNOD N3N N3Y .4.14 WHPOY

[€

— =[G : H|

|H
o0 o(a) = [(a)]-w »ov 7 ()] | |G| ™ {(a) < G-v oY a € G W3y 0103
alCl=epwpmm @ € G995 B 1P DAN3HD 29 1TOD AR PIND N3N 1N 9 Y

NXAPNN 0N Zip-1 DIDN DY DPIVIRD OITON | Zy| = 10 My .4.15 Hnnt
{1,2,5,10}

0”p NI5N2 oXD |G| PR PO m € N 190mm 190 nMan G OX .4.16 99N
m 970N 1N G-

Loy X Ly DNAND DR N TPTI DNONT NN XD INNO
290N ITONY 721X .16 IR 8 79700 12N N2 PN DAR 1610 NMann 1T
N N 16 ATON R OPP PN IDR Q0N 4 INYD D35 NN NNED N7ana

o> 1 My OIS YN Z, X Z, 0NANNY 1NN DAR O

0(g) > 1199 e # g € GO onWNRI p 1ToNn NN GO .6.17 DN

N .G = (g)-v MY m ,o(g) = p NN PY o(g9)| |G| = p v TN
AVNRIPRY PIADNRD TAR 95 0T DY NN G-v o3 e £ g € G Y39 Ny
DTN

G-1 o7p DX PN ONX M 1ToN G 0 o LoD nNan G onn .4.18 904N
.2 9790 1N

9T0 NN PONN TN DY ATON JTINTID VAYN 29D IN L2 ITON TN D”P DN INNO
2N NN2ANN AT 1O NNANN

INNYD OO NI - NPTIN NNON 2 TON IDNROY 2D W) Ot TN G ON
V9 NINYD NNV TDN GX PRY MDD 2 79701 (-2 TDNX G PRY 12DV 1)
MM DN DD AWUND ,NNND NNAND PN DD NN ATOD Y IR DTN IDNRD
DN DY NN ON 90N D2AP) DTN AN OY TN (NN NNYN) 1D DMNN TND
NnNY nnoa ,G-a

2 3TDY TMIZIN TV NN IR NODY WY HN ITDY DIN3NT .4.19 HPOY
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PN HNAM NN Y 0 4.3

Transposition PN NIPY Sp-2 2 TINRD NN .4.20 D910
DAN2N NYAOND DWW Y (ag, ds, ..., Gr) NN DI .4.21 WYV
(a1,as,...,a,) = (a1, az2) - (az,a3) ... (a,-1, ar)

25, NMana w 2 <7 < n TIRND DIMNN NIND .(O0TD) 4.22 N

9N Pwan () v n IO D900  ©IMI IPNOYIMP NONY | NNO
JIPYIVAN YT ANV 1IA0 DIN NNV 0D7T rl-1 ©I900N 7 IR ITOD W nyd
NG DN DIMNN 7 W 0D

(a17"'7a7“):(a27"'7ar7a1):"': (ar‘aa’b"war‘fl)

WS- T TIND ONNNN I9DNY DAPY -2 991ON 190NN NN PYNY )00
() =)

Sign DAY TN DY OON RN L TINRD NN 0 O .4.23 DTN
sign (o) = (—1)*

T,0 €5, 999V T2 PIPNON NN NN ,S5,-2 NN DD SV 10N NN AWND 1T
o»p
sign (o7) = sign (o) sign (7)

OV YD DTIND MINK MNPY DXIT ¥ 1200 AT MY NNDIN NIV 25 MY
LD9DNN 190N NN 28D Swnd NN

Even W DNDN OVA —1 N3N0V NINND IR HWDON OVA 1 MOV NNINNY XIP)
permutation TN

Odd permutation
292520 NNP N DAN NN DY YD AVND NYTO WD Mt .4.24 T

2o N0 (35) (49) nann et OrR Amn X0 (35) ponn L1
.(34158) HonH 1A NN XD ONTON TINRD MNNND .2

JONT AN NN MND NINn L3

Alternating NNAN NNANN™NN NN A, (NPT MTINNN NNAN IR) POYDND N3N .4.25 NN
group Sy, OV
A, ={o € S, |sign(c) =1}

JA,| = 2w A4, 5w 170N .4.26 YD

JON Az 1m0 Az = ((123)) 025 vy LAz = {id, (123),(132)} .4.27 hnnt
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Group

homomorphism

Monomorphism

Epimorphism
Epimorphic
image
Isomorphism
Isomorphic
groups

Automorphism

MWINRN DN S

oMmvaMIMIN 5.1

DOOWOYYY NP f: G — H npnyn .man (H,e) (G, %) nynn .5.1 910
DYPNN ONX MMN3N Y

Ve,y € G, flzxy)=f(z)e fy)
:DNVANIMIN DY DNV DNDD NP DN PI)

H-2 135w G0 99N AW IN DHOWOHMD RIPI Y'NN NINY DDaNMIMN .1
J: G — H y>»v o”p N

TVONOION. TMDN NN H D 9INI DDOWDOR NIPY DY NINY OV9NMIMIN .2
J: G — H ovoamran o»p o G YV

TVONDONIR -1 G0 N DUOSWONR NIPY DY) y'NN XINY 009NN .3
G = H o . f: G— H ovommvdN 0P DN

.G OV BOYOWOYWOW NI f1 G — G ODINMMIDN .4

DOONMIVN ,DPONPAN ,DPONMND ,DP9NNDIMNN TY MNWN NN I8P NPda .5
JNNN IO AN ON N mIND DYaNMIVIN

NPNYN NRYP ON PN OXR OVSMMION NN f: G — H Dvammmin 5.2 Iy
gof=idgon fog=idyg-vI09: H > G

YTD MDD LNNYA OVONIIN N NN g NPNYNINY  (1NDI) MOIND IWON
.g = f71 noan Apnyn N8N 2900 DPMMPN XN f OPaNMIMINY NOND
NTY) TPVNMIT0T NPIVDD [, NPDOPODT NNON N NPINMPNRY NINID 0) IWON
ANNAP DYDY M TON NMTY NN MNANND NPONN 2D MPPY DN XD

,DNVONMOIMNN I ONN AP .MNIAN P MPNYN INd SY Nvwa Mn 5.3 9990
N0 NN 3D ON)

NWIN OR NNP PN N OV NN x> e 29) NATHmN ¢ R — R* 1
200207709 D9ONN

M ovaMaN N det: GL,(F) — F* & .nTv F o .2
det(AB) = det(A) det(B)
D09y DY NNVOON NNIVN DY SONDND IWAN DY NPNYNNY NOIND 1)

JoovNa (7,1, ..., 1)
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Kernel

Image

VAP DX IDAN DD OVANMIMN NYR = — 2 290 MmN ¢: R — R* .3
p(0) =1

2)7N2 ONXRIN LOVAMMION NN 1 +— —1,0 = 1299 Ny Tamn ¢: Zo — Qs .4
JVONMION NYYND 0 2 ITON MMANN YOV A

NN TIND MNON NND NI OV NIMN XN f: G — H npnynv N1y
Jleg) =€y 1

g™ =flo)™" 2

2099 MIPN 0N ONMPN DYYoN .n € Z 939 f(g") = f(g)" .3

oM NMaN N NN Jker f = {g € G| f(g) =en} M0 ,f DV YWY 4
(“P5171 DMan-Nn” At nn 2oy Tunna) G OV

H 50 nan-nn won im f = {f(g) | g € G} 195 ,f Sv tvmond .5
|G| =|H| ™ ,G= H o~ .6

DX TOIDY NN ,NIPN XD, MO DNIDINMIMIN DY IOND MNONN .(XDTD) 5.4 AT
ANYY Npnyn JF DY Syn 0»mom oanm V. I pip ANy nHaxoNa
NIoN2 OND ,dim V' = dim W ey mman Sy ovaymmn oy xonT:V — W

2009MMN T’

L0202 SV NNNN T DY TR 19N NYAPI TPIRYD APNYNIY VT .(00TD) 5.5 WD
S(S) oy mxn f: G — H ovanmmin namn i ,G = (S) ox ,imT 191xa
PTIN (TR XY OV I1D2ANR) DXINY NP OV NNNN OV NY AP DO NOW 25 v
ovaNIMIN NVTIN NPR ©([1]) = 1295 PV 1IMN p: Z,, — Z Hond .ovammin
TAN TN 20N NITID NN

o(n) = (U] +--+ 1) = () + -+ (1) =n

;DX P DOPPNNY DO DOV P1Ta0 v 095 19Na p([n]) = 0 v T8
LOVONMMN ITIVY 1T ,0I8PN MNNN DY D) ONPPNN

DPPNN PND VTN g € G 935 5 N .oV f: G — H o 5.6 2N

o(f(g))lo(g)

92PN MNNWNN DY [ IR DY) .¢g" = eg NN 29D .= 0(g) YADI DN

f(9)" = f(g") = flea) = en

O 0(f(g))|n P03 3.3 Myv a5 19N
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NPONMIPN YN 4 ITON MMNIAN PNV DD ONRN 5.7 9990

4 9700 YR W H-2am0 235 ovwy L H =74 DY G = Zy X Zs AN IND ZNINO
0,1 € H wmo 4 9701 YK YV 9700 IR L, G — H Dvammvn in DN
ND 9270 199 ,2 W 1 970N 0NN 95 G NMANa MpNn YY ATON DN PONN
JPOMMIVN XD MMANND 199 o5
MNXYIN NPSNMIPR MNIANA 199 ,DIDRN ITO DY IV DVINMDN Q0N
JNY 3N, MM2aNa OIRND ITO DY

im f N, 0AN G ORY IO ovammIn f: G — H o (02Y) 5.8 YWYV
JYaAN H o 99 OX 1van G N ,G = H orv 0N .0vaN

JON im f N YN G ORY DN o0 f: G — H o 5.9 9N

x € 1im f o v wv won (f(a)) Cim f 2 M2 .G = (a) M1 DN
TPOMPAN NN NN im f 2) f(g) = 2-v T2 g € G TR W 320 INYID TN
99 .g = ak-v 0 k € Z 0»p mops G-v »an (G v

O f(a) 5w npn N NN AN 9D MO,z € (f(a)) 2D NHM

JP9NMITN YN DN0N ATON NPOPPNN MNANN DOV PPONY 1N ONPN 22X INNN
DY NYTO PANY Y TNN DD NN DY ATON IR TN NNAN "2INn9”2 NNYD ON
:DDONMIIVN YT TY

Z=9 W Zp =7 W TIONODRIR TP N3N 7D .5.10 voun

(A9N DMan IR W D) Uy = Oy E Zy-y nZ =7 .5.11 0t
21 S5 — Zg DVONMMIVN O”P ONN .5.12 99N

JVOPIN Zig 1N (FPOANR KD IDONR ND) NPOPN KDY S35 | ND )W
f: (QF,) = (Q,+) DvraMMPN DPP DN .5.13 99N

935 f(a?) = f(a) + f(a) V192 ,DPINMMIPNR NI [ 5 NSOV M) KD NN
MPN W IR DY NN f-v a0 =5+ 50020 0V ¢ = f(3) woy .a € QF
J(x) = §mmx yon §-5

NN NN NIOX 10D

f(@®) = f(z) + f(z) = c = f(3)
A3 ¢ Q0 nPNo N N .22 = 3 NOP Y'NN XN f-v 9m)

tH = (5) < R* 2O f: H — Zs X Z3 DPOINMON D”P DN .5.14 9990
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N im f 03 N DOPN NN H-v an MmO f 07pY 1DOva o)) R NN
NMIANN 2D NPNO N IR dm f = Zg X Z3 *D 92p) 199 0y N0 f DAN ooy
OIS NPN Zig X Zig

1f: GLy(Q) — QF ovammmm 0»p ONA .5.15 990

NI L[ GLy(Q) — im f 018082 112N .M f DPPY NYOWA 1) KXY N
ADODONMION NN fINLY'NN - )90 DPONMAN INT 1D WXTNY) DHINMIDN
DPN0 RY ,9aN GLo(Q) Dy M5 .HaN im f 199 im f < QF v 1o

A3 TDION PIIN WO .HPOY
2009MVIN NN i(g) = ¢! 295 PN i G — G NPNYNN NN .5.16 99N

NP N PITAY AIRYY DY) YNN NN DNNYD DNANK NN APNYNNY NI WO
5 25 OV g, h € G Vi (OVONIMIN NN YD) NDIWYON DY NIV ¢ DN

i(gh) = (gh)~' = h g = i(h)i(g) = i(hg)

JPoaN G ON P DR OVAMMIVIN NN ¢ MDD .gh = hg DX P DX D»PN° NN
Anversion 202 »T> N2 NPNYNN SV OV 2R NIYND

WY YN 6
WP vavn 6.1
Cayley’s theorem G = Sg W DY R .ON3N G DN L0097 VavN) 6.1 VOYY

nos oy T XX -2 M>»onn nespNon N¥Iap NN Sy 22 950 L(ARIN3) DROW
oV VNN PNPNS OORM g € G930 X 9Y DNOVLIDD IMNM3IN XIPN ,NADINN
D(g) = 1,099 &: G — Sg 8PN 1 Uy(a) = ga Snnwn 995090 [, € Sg

0»pPMM g, h € G Y25V DO DS .OVNIMN P-v NN NONN

lyoly =g
@ TN OY MO 0 a € G Y25 DX PN OX NIV NPXPNN
(g o 1n) (a) = I, (In(a)) = Ly(ha) = gha = I,y (a)
DPPIN N g = [, M) YN0 KINY MNIND 27D .009mmin @ 1o,
g=g-ec=ls(eq) =llec) =h-ec=h

] Sa-2 nown G5 g = h oo
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Greatest common

divisor

Coprime

MYV NNIANN DN IR N0 .G — Sg Pov Man G = S3 N2 .6.2 It
{1=id,2=(123),3=(132),4=(12),5=(23),6=(13)}

NN - NNANN DN 9D NN NIV g-2 IRNPYN Y90 XD IR g € G TN 92D
;g = (12 3) 5v Nmnn NN 2WN)Y YN .Sg-1 g DY NHNNN NN N

dy(1) =239 ,1— 2955 ,(123)-id=(123)

1g(2) =319 23995 ,(123)(123)=(132)

L;(3) =139 3—1m55,(123)(132)=id

dg(4) =619 4 — 6 m>> ,(132)(12)=(13)

dg(5) =435 5= 45> (132)(23)=(12)

1g(6) =51399 ,6 = 5 m9> (132)(13)=(23)

> MININD 1VIMN ONN - IINAY NADNN 295 g — (123)(465) Yon 7o
NAIX N POYP VYN MANAY 29 WY 2(14)(25)(36) o0 (12) nmn
155 < S5 DV WY YTV

Sy Y ON3INTANT? MONONIK 72 IDY G IO N3N 7D .6.3 WHPOY

9V DN3NTHNT? MIONWONIR 72 ATIDY G OO N3N D DI L L6.4 HPOY
GL,(F)

GL,(F) 5% nMan-nno manmivr S,-¥ IR :NNMND 0
GL,_1(F)-2 S, "X 2v910) 0Mp .G — GL,_1(F) ovammmm XY NN

oW |G = Zg WX, 10AN G ORYOINOIN .6 9TON Nan G onn (M) 6.5 990
G 2S5 N oA Ny G

09901 NMINY NN 6.2

OOV (N"DN) I3IDD ANV PINODN 1, m OOV DXI9DN IV JNINA .6.6 NITHIN
901N NN AT

ged(n,m) = max{d € N : dln Ad|m}

(n,m) =1 OR DN n,m * MN) .(6,10) = 2 Svnd .(n,m) P71 YU WYY
.0 0N 5-) 2 Swnd

b=y a SV ua + vh IRYY NN YD PHNN d NN L,d|b ON d|a DN 6.7 YD

(n,m) = (m,r) ' ,n =qgm+r DX .6.8 WYV

D9 NN .d|m BN d|n 2 ©YTY DN .d = (m, 1) 229" ,d = (n,m) IO .DNW
A < (m,r) Mop oM Jdlr =n — gm 99 n,m OV OIRYY MPND T NIN PNID

SV INYY NPY NI 1D (myr)|n P9, (m,r)|m o3 (m,r)|r DTN 295 nyd

D WP YoN T (m, 1) < d R (m,r)n o (m,7)|m D WP DN am, T
O d=(m,r)
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Euclidean

algorithm

Extended
Euclidean

algorithm

THYOI NN YIDW INY3 Y'Y IRED? "YWDORDN! (OTOPIN DNPINONR) 6.9 VOV
(n,m) =n R m=00R .0 <m < n MY PN DTIPIR DIMDBIR R 6.8
W3 (n,m) = (m,r) Y YN 0 < 7 < m WRD n = gm + 7 3D NINK

(AYYR? 3MN BIMNMIND D2

OTOPIN OIPIMON NNYA 47-1 53 OV n”nnn DR 2vN) .6.10 NHNY

(53,47) = [53 = 1 - 47 + 6]
(47,6) = [AT =7-6+ 5]
(6,5)=1[6=1-5+1]

(5,1)=[5=5-1+0]

(1,0) =1

09T DNV 079010 MY NAO0 MMNT )3T ¥ ON)

(224,63) = [224 = 3 - 63 + 35]
(63,35) = [63 = 1- 35 + 28]
(35,28) = [35 = 1-28 + 7]

[

(28,7) = [28 =4 -7+ 0]
(7,0) =

DXAPYY ©I9DN MNAY DIAPH’ DIPINVONIL NP2 170 ©2ADYN 190N 2N NIYND
AN DN NN IWRD log, n NN DIPIORD DY MN8N NITOA

a, b # 0 B BMODD 707 DIPNY . (PIYII SINYD NN 1”NNN IPON) 6.11 VOV
»
(a,b) = min {ua + vb € N|u,v € Z}

3 YR WD) (a, b) = sa + th-w 3D s, ¢ € Z DYMY 0193
.alc " WA albe on (a,b) = 1-v 75 OOV DI90N a, b, ¢ VI .6.12 DN

c-1 2°92) .1 = sa + th-v T2 s,t DMIOP PINYY PNPND N'NNN PON 290 WINO
9D Lal (sac + the) 135 .altbe ©Y 2NN 29D alsac *d M2 ¢ = sac+ the DapN
.alc

ple W plb R plbe BN MYRY p BR .6.13 MHPOY
ple oMPN 9300 299 ,(p,b) = 1 199 pt b ,NINK ID»D IR ,p|b DX NN

MWD PINYD NPXD NNNN NN DYIANYI S, ¢ DNDTPNN NN NINNDD >TD .6.14 NNNT
SHMVD DIYPIR DIMNIRI YNNI
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(234,61) = [234=3-61+51 = 51 = 234 — 3 - 61]
(61,51) = [1=151410 =10 =61 —1-51 =61 —1-(234—3-61) = —1-234+4-61]
(51,10) = [s1=510+1 = 1 =51 —5-10 =51 — 5+ (—1-234 + 4 - 61) = 6 - 234 — 23 - 61]
(10,1) = 1

(234,61) =1=06-234—23-61 o9

20”01 5W MNON .6.15 THYV
eld 7N eln on elm-v 75 e 0 d = (n,m) 0 .1
(an,am) = |a| (n,m) .2

DWW

MNP X O) PO NIN N Leln, m-Y WO .d = sn +tm-v T2 s, t o»p .1
.d DR N sn + tm DNOY IRYD

n (.20 Y30 Pon) .2

Least common (0"D3) IMMODD ROV NN 1, m DOV OI9DN Y JMNA .6.16 N1
multiple nrno NITIN DNOY

lem(n,m) = min{d € N : n|d A m|d}
.[2,5] = 10-1 [6,10] = 30 Swnb .[n,m| P71 0O DY
1”05 SV MNDON .6.17 THYV
[n,m]|a W ,n|a oM m|a OX .1
[6,4](6,4) =12-2=24 =64 5vn> [n,m|(n,m) = |nm| .2
LB

n,mla 3 P .0 < 7 < [n,m] WRD a = g[n,m]+r-v 12 ¢,r v .1
SV NPOIYNY NPNO N #£ 0 OX ., mr 0D Yyan n,m| [n,m] N7 290
n,m]|a 995 ,a = q[n,m] 35 [n,m]

No95NS 790N DY PMaN NNYa N’NOM N"HNn 2N NOp TIT IR .2
NI PIPON 0D N2 LDYNVYNI O

k k
|n| :szl :p?1p§2p£k ’m| :Hp?l :p?lpgwpzék
i=1 =1
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D»NVYNI DMNI YNNIV > T 0 ©1NN) oy, 5; > 0-) O OPNIUNR p; TURD
D YIONWND PIAN NYD (AT IMND

k k

| I min(a;,B;) l | max (a;,5)

W, + [ = min(a, f) + max(a, f) 07PN @, 5 9901 YW 935V »am
O n,m] (n,m) = |nm)|

Sv NN d 0N .DM9DN AN INYD NN PTIND VIR L(ODTY) 6.18 NYNRY
$1N1 + DMOYPNN S1, ..., S, DNYY DMI9DN DNIPPY ININ N, ..., N, DI0NN
KOy mspTYN an -+ spn = d

N YV 910 2N 6.3

d <n 95 o n € N 39700 YR a € G >0 ,nMan G onn .6.19 990
V30

N O(G)
°() = @) = @ota)

") A5 DOWI MNOMN NN NDINN DN

(ad) @n) — (a")(d‘,im =e

( € Z > NN Ipvyy mnyan)

(d,n)
399 .n|dt 3.3 Mayv 295 .a® = e Mo ,(ad)t = e NI NYPIYNN NN N*DN NYd
n d =1 W T .(2NTN - DOV DI9DN DY) —— n ‘ dt =)
n
[l JPNY D ,—‘t bnm 6.12 99N rab

(d,n)
(a) N (b) = e o ab = ba-v 75 a,b € G vy .nMan G NN .6.20 WYV
NN b T DY DINNN DANIANDTNM @ T DY NIXNN ANIANNTNN P2 TINN ID)

INL(FPONPI0
0 (ab) = [o(a), o(b)]
:[n,m] PN POPNM o(ab)-v MR .m = o(b)-) n = o(a) YOI DNOW
(ab)["’m] = glmlplnml = ¢ . ¢

o(ab)|[n, m] 352>p 3.3 NV *3Y .[n, m] NN OPONN n, m-1 ab = ba *>
199 .af = b7 L (ab)t = e DX YOI NN YT IV TN

a, bt e{a)yn(b) =e
O .0 (ab) = [o(a),o(b)] M5 .[n,m]|t 991 ,n|t oM n|t M
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v G-9 IR .min o n ATon Yy G = (a) NN ()t v DR) 6.21 TWYV
M ATON NP YOPN NNIANTNN

K onn .ovp v wom ,m Ton nmannn v H = (o) poy amw
K = H oy mmpmen nnonb LK = (5) P ,m 2700 NaoN OO nMan nn
,6.19 99N 099 DY B = aP-vw 1o b < n ovp G SV I8P a-v INNN
_ n
o(8) = wh

D0»P NN INON 290 .(n,b) = X 125 m = oy 2 M o(f) = m Yan

29 .(n,b) =sn+th-v 1> s5,t €7
an/m — a(n,b) _ aanrtb _ (an)s(ab)t —1. ﬁt cK

29 |H| = |K| nmnnva Sy 9an H C K o9 o™ € K-v 2920 99>
[ V1o H=K

30-9 W NMINY MNAN~NN NND .6.22 9N

NI MMANA"NN 901 ,7YPP8 12N 21TO INND ,NNTIPN MYON 295 NN
1 ov7on |{1,2,3,5,6,10,15,30} = 8 :91m195 ,30 1901010 Sv pSNNN 1901
JDYONNI0N MMIANN~NND ORNN 30-)

9 (Iem) Y"POD KD F,-3 DR DINRNY TN79DY NID .(6.20 MIYL YY) 6.23 HPOY
JTDIINRNDD DWR

A nn (1234) (56) Yw 27om 6 N (193) (56) v 770N .6.24 NPT

.S15-2 45 9701 NMANTNN INND .6.25 9N

IR AN LS15-2 45 9TON NN R¥D) NN
o=(1,2,3,4,5,6,7,8,9) (10,11,12,13, 14)

0(0) =1[9,5] =455 15 own
NMANN"NNY PPOI ,AXY T IDRY NNANDNN ITOD MY TDRD ITOY PNMPON Ny
TN Oy Ny (o)

72515-2 39 7T0N 1N D”P OND .6.26 NYNY

D DINNN NDAOND SAPNND 21> KO 39 ITON TDRY PYON NIRD .KRID )\WWNO
.515-3

AINRM 13 TINRD TARD DI ©INNN NY9OND 39 IT0N NX D2APD N2 DINN
S15-2 waN onba it )09 13+ 3 =16 Yan, 3 7NN

254 DN DPIVAND DITON ON NN (YT W DN) 6.27 929N

:0N OPIVAND OITON S4-2 INND
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Chinese
remainder

theorem

DTN AR P - 1970 1
(12) (34) Svno ot 9PN MY SV NP9 X (i, ) NN - 2 1TO .2
.(243) SwnY ,3 7NN M - 3 970 .3
.(2431) 5wnY 4 7xn oMNn - 4 970 4
JS4-2 DPIYVARND DTON 92 NN NN NVIVA NN PPNID PNOKN MDD HN
755 PIDND OPIVAND DTON ON NN (It ¥ ON) 6.28 939N
;0N OPIVOND DITON S5-2 NS
DTN AR P - 1970 1
DN AN NV HY 1Y X (7, ]) DNIN - 2 AT .2
3 TND omnn - 3 970 .3
A TR0 o Mmnn - 4 770 4
D TN 0PN - 5 1T L5
.(231) (54) Svn ,3 TN IMND PN SV 199N - 6 ITD .6

M > 5 NAY NN NTHY ATON DIADR W S,-aY 20 v N

WY YN 7

0N NYINVA Vavn 7.1

T OOy a,b € Z 9% MR DN n,m BR (20N NPIRYN VIYN OTY) 7.1 VOVY
) 2 =0 (mod m) @ =a (mod n)-v IO nm ANTID MPPY YT Ty DM

13 .sn 4 tm = 1-v 2 5,1 € Z 00»p wR ,(n,m) = 1-¥ 290 AR K7 DN
O”pPNN .bsn + atm-2 INAN) VOVYNI WD x DV OVP NOIND

bsn+atm=atm=a-1=a (mod n)
bsn+atm=bsn=0b-1=b (mod m)

NNk € Z 930 2 = x4+ kmn D) 2D M2 2IVAR NN XN & = bsn + atm 19N

PN PINS
] a0 9902 7NN 1 YT £ OV TN DNOIN
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Multiplicative
group of integers

modulo n

DT =2 (mod 5) onxz =1 (mod 3)-v 75 z € Z Ry .(09T9) 7.2 DNt
Ss=—Lt=2)n=5m=3mnpna .—1-5+2-3=119,05,3)=1
OPPI PR .2 = 1-(=5)4+2-6 =7 NX 7INIY TWIX 2D NPINYD LIVYN 199
7 =2 (mod 5) on 7=1 (mod 3)

MNNYN) MOAN NIIYNID 1DV NI N 299D INY NIN 2PDN NPIRYD VYN
00T M>pY SV

22 A7) VN3 DIND DOYIO DIODY MNP {1y, ..., My} KON .(DTD) 7.3 vOWY
IMIRY 7V MWD DHIP JTOD3 772-3 DAOOY AR 1V (N RID DHIP3 BMODY N
TOIWV? WINO DN 172 ANz DN WY oy {a; (modm;) |1 <i < k}
MIRNWWDD

r=a; (mod my)

r=a, (mod myg)

y=3ony=2 (mod 5) ,y=1 (mod 3)-v-v 75 y € Z R8N .(057TH) 7.4 N7
S¥ NADIN ¥TD TY NI NIN NRTIPN NOINTH 0 y = 7 PINanw 29 vy .(mod 7)
MXNWHN MY IR 3199 (15 = 0 (mod 5) om 15 = 0 (mod 3) »2) 3-5 = 15
Y =7 (mod 15) nnX MxNwNa PONNY M y = 2 (mod 5) ,y = 1 (mod 3)
MY MDA PPON NPINYN LIVYNL YANYND AR 1991 (15,7) = 1 >0 25 ow)

JON9 NN Yy = 52 23 I1PTA MINNIYN

A9NR nMan 7.2

,2ANNN NN D8N0 0T > 1 MY 0NN RO XN (Zy,, +) 29950 DRI 7.5 Hnnt
MNRIPI N .0 TN Y950 Nws 220 U, = U(Z,,) Do AR IMNM3R DR DT
.(Leonhard Euler) 221X 795 Sv mvw Sy

:([0] NY92512 Yy TNV [0]-n BYYNNA) Zg SV Y950 M5 NN M)

1121345
1111231415
212141024
313(013]0/3
4141210142
5514321

P PITA0 P290N 195 AN NOWN) 1 OMAY YOV IONR DN D¥I9NN OINN
Ny Hv 09NN NN [5] Mt npna Us = {[1], [5]} 995 .(mmv P x mTny

27T GMYNN PONNN DX PN OX [m] € U, IR .m € Z 1 (NIRY¥INA) 7.6 THYV
NN OIDVNRD 95 0N (Zy,, -) PRINI 9NN , 90 .1 NN m-1 n YV Inra
n-9
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DM9vNN VN ) Uyg = {1,3,7,9} myon 295 (U, -) 02N 1NN 7.7 DNt
:0(7) =45 PN .0 oo 10-5 0N

7 =49=9 (mod 10)
?=7-7"=7-9=63=3 (mod 10)
"=7-7"=7-3=21=1 (mod 10)

Up = Ziy ™ pNUNI 1900 XN p ON 7.8 WD
N0 W 10-5 9 70 5 NINKR DY L, Z1g-2 0992 209N 5-D DY KD 7.9 NNt
6lzr =1 (mod 234)-v 75 0 < x € Z NN .7.10 9990

MO .61z + 234k = 1-v 75 k € Z Nxnd N7 .(234,61) = 1 5 1R )00
oNTPNRN 0N k,x MMOD .234-) 61 SW (Mt NIPNI 2O12N0) IR NN NN 1
1 =6-234—23-61 mTipN NONTN 295 YN0 MIRDD NN NNNN PPN VIVIN
2 =211 9n23 *25¥ N z 20 PPN *TH & = —23 (mod 234) )oY

MNINKRD IRNWNY 61 D07 m v [234] € U 1200 03 Mt 2wnn

1=6-234=6-51 (mod 61)

.[6] 2 Ugy nana [234] = [51] Hv »H9nnw jNom

A9NNR NNEPNS W 7.3

IN2N VNN VOVYNN DX PPOY Uy, NMHaNN M2y HINDD vavnn

Euler’s theorem  .0(n) = |Uyp| 9% MW @ N = N AR 3mypno (19X 0avn) 7.11 vovu
Euler’s totient af =1 (mod n) ©pny a € U, 9 W3y

function
©(10) = nx Uyg = {1,3,7,9}-w anxn .3 € Uy 129 ,(3,10) = 1 .7.12 "t
3700 = 3% = 81 = 1 (mod 10) :07pmm 1N |Uy| = 4
1333333 59 NNANNRN NT90N NN INYD .7.13 9990

215 vy N (mod 10) o0 N 2901 S¥ ININKRD NI9DN ,7PNIVYN MW NN
199 .333 = 3 (mod 10) »»

3333 _ g4-83+1 _ (34)83 :3=81%.3=1%.3 (mod 10)
333%% =333 =3 (mod 10)

.3 NN NININND NI9DNY NI

DIDN NN INYY 6.19 9N NRYD .0 ITON NOPN NNaN G NN 7,14 9N
.G nx oNy G-a
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Fermat'’s little

theorem

AN .G = (a) 2 ) NN

G=(d") < o(d")=n <= =n < (k,n)=1

n
(k,n)
p(n) = |Uy,| 00 G nR 080 028N 190N )00

AIUKY P N3P AR VOWD 29 M0N0 DIPD TR (NN W JOPN VOVNN) 7.15 VOUD
aP~t =1 (mod p) V93 0(g)| (p— 1)-w DY a € U, 959 V7 .|U,| =p—1

5S¢ MNINKN MIDN >NV DR 12WN .p(100) = 40 > 139 19N NP .7.16 239N
90921 790N

2wnY 951 8,909 = 9 (mod 100)-w 910 .M»pY N 19N mod n-Y I3t NS
‘9121

99100) = 940 — 1 (mod 100) 19N VAWM 29 Sy NN (9, 100) = 1-v P>
912 = (910)3.9=13.9=9 (mod 100)-v NN

1NNV AN DN NNYY 2100-n YIN DN TY DI9DNY p(n) IR DAVNN TR
DI VONN TIYZ NN OIVPN DXIFDNN IIDN NN AYND D1 PYIAV IIDN NP
Rp)

MPIN NYAINY PI9D JN2) OOV T30 DD ,NPPONTIND DV YTIDN VAVYNN 29 DY
M%) L(PPD ITD 2T TY) DPNYRI D900 DY

k1 ko k
n=ppy...po

,129902 1NYDD MWYRI 190N DY NPIN DY IDIN NPT T2 1NN NYd
:AVND 5P DMINRY

R 1
p (") =" = =P p-1) = (1—];)

J(a,b) = 1 DR PAY ,NINXINA NNDIN KHY MYV X PPDN NPINYD VIYNI IO
92p) 0OV 190N MY 3190 .p(ab) = ¢(a)p(b) ™

e (n) = (Pi'p5 . ..pir) = (p1") ¢ (052) ... o (pir)

1 1 1
ot () () (1)
D1 D2 Pk
1 1 1
:n-(l——) (1——)...(1——)
P1 D2 Pk

em=n (1=5) (=5) - (3)
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RSA

cryptosystem

1991 60 = 2% -3 -5 93 00 ,|Uge| NN 2WN5 275 .7.17 At

@(60):60~(1—%) (1—%) (1—%):16

89214671999 4+ 2019 Sw MNINNRN MDD PNV NN 12WN .(XOTY) 7.18 9990
92pn mod 100 Hy93 .(100) = 100 - (1 — ) (1 — £) =40 2wnd Yp Mo

892146799 4 2019 = 679 4 19 = 67701 419 = (67°)™ . 67! + 19
= (677099)*" 6771 419 = (1) 67 + 19 = 67" + 19

-2 882 95 100-2 1 67) Upgg NN 67 DV 20900 NN NINND 9M) Nyd
DNNYND PINS NNOND TNND DTOPIN DY OMIMONI WInv) 70 TN (Uigo
67 =1 (mod 100)

00k + 672 = 1-v 70 k € Z 0»p OX PN OXR NRNYND NIN W

67 5v INYY NPXD ged (100, 67) NN PXI ANNN DTOPIN DIINON NRY3
:100-

(100,67) = [100 =1 - 67 + 33|
(67,33) = [67=2-33+ 1]
(33,1) =1
MO, =319 ,1 =67—2-33=—-2-100+4 367 :52p) NNNXO NANOIM

3 NN 67 5V 0MN
22 30 MNINNA MI90N >NV M9 671 +19 =3 + 19 = 22 195

MNY YNN8

RSA m98n noyyn 8.1

,O027 NI oV Dy) RSA 139%nn NOIyn NIN MMNIAND NNNA SWYN VInwd InnT
NNON NDXDIY ,PIVPON NMIONNY NVVW NYNNNY ,(IITR TINND PNY Ty
ST NNPDIN RSA 0m9moN YW N8N DNNT D) NI 0NN

JANIN J9IND NYTIN DIORD MOV YN 112 :N0NN

TIND DY192) INIPR J9IND p, ¢ DPNYNRI DIDN 1Y NINIA DIUN :MNNINH NN
pn) =(p—1)(¢g—1) My n = pg ©IBONRN NN NIAVYNN NN .(DNTH
SY192) MBXNY TIAYNN RIPIVY p(n)-2 NN e > 1 790N NIM1 NN qona
50 d ’995 M0 NN NN (NN JOP T 90N N 65537 = 216 + 1
7900 NN NN MDD A0V ONION NN IR MY Uy NMana e
T ANTNN OTOPIR DIPION T DY Hwnd de = 1 (mod p(n)) 0»pnn

DDY MND TNY PRY 2OV
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NNANN NN ,)O¥IN NIOND NI TN PN 19N NN DON 9992380 NNNH NN¥ON
NSYY I NIMY NN d XTIDN NNONN NN (0D IR) 212D (n, e) M NN
D0V IMND TN PRY 2OV Nt D)

NN .0 < m < n O”PRN m D900 NN OOND M NyTin NOY 212 :Masn
YD 90N W PN 19INA ¢ = m (mod n) NMANINN DYTINN NN NOW
AN NN 0NYY MaNNM MOV D10 212w MY Myin Sv

YTION NNONN NNYA m NYTINN NN c-N NNYN OON :HNY

Ad=m=m (mod n)

p = 61 NN SvND DN DOX TIND DIVP DIA0N DY NNNT 1N) 8.1 NHNT
VNN NN . = 537

n = pq = 3233 on)=(p—1)(¢g—1)=23120
NI YV OTION NNANN .p(n) = 3120-5 It 1RV e = 17 MaxN Ty ININ NN
d=e'=2753 (mod 3120)

YMNNN NNONN NN DDION NN DIINONI DNYNIN DXADWN 7Y NN DPOD »T1)
(n,e) nov
DYTINN DIN 2V NN JDOND m = 65 NyTNN DIN NDYY N 212 N
NI9NINN
c=m'" =2790 (mod 3233)

WD T DY NN NIVON DION NYD . DOND ¢ NN NOWN
m = 27903 = 65  (mod 3233)

M2y MOYWA MYYND 01D NPINTIN MPN SV 0»»aN »25va 02NN

NOWY) W NANYA NPTN 2N T DY IR IO NPIRYD VYN MNYIN TIND

NI DDAV 29 ©wy mlT 2wNd Sund  (NPNa ANYa ANDYN D) NIRIPIN
22N POANDI NYPINTIN MY9ON 17 — 1 = 16 ©Opna 195,17 = 10001,

(m?)* =1232  (mod 3233)
S=(m')” =1547 (mod 3233)
(m*)* =789 (mod 3233)
T =m(m®)® =2790 (mod 3233)
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MPYTN NP0 DaPNn N (NNHINNY NNYNT NNY) m-2 VOO TUNIY 20 DY)
VIDW IPYY NP NPDON 900D DAPN Nt W22 100 VR DN ,100015-2
NOVIVAN NINANA 22O NPI

r (mm)z ok
" m(ngJ)Z I ON K

ANoYN Sv Mows |log, k|-1 ponond Yo pnwds k May mF awny awno 1o
NPIATN MY9dN k£ — 1 opna ,nrantn moadn [log, k-2 anvn 9591 yiaa
2R Now ntya 27902753 (mod 3233) PN 2WNY Ma1 103 LN NDMA

NVAIMNLPIP NPXPNAL YNNYND INTI XD YNy NYTY W L (INIMN) 8.2 YYD
’2)0 DINNA ONMIN T DY NPTPITN NYNA ROY .DWN DIIND T2 DNVIINY
VNOY DOV 220D HXID AWANY MIAT MOPNN PV ,TIipn MNDN MR Nn9
,(INN2 OTX NOPNN DMV XD MNNSN NPY ,OPMOYA KXY DIVNIS NN MO

LI T TN Y NaPNN

NNNN N NN DX MV ONYRI RIPI P ONYNRI 190N (It v ON) 8.3 09N
OON .RSA 0y 19811 9010 DOND NOYH NI 212 ONWUNT ¢ O IWRD p = 2 + 1
MOV YMDNN NNANN NN NNDIN ,p = 2¢ + 1 MO MNYRI RN

n = pq = 60031, e = 4761

NN .c = m® = 19033 (mod 60031) Mmvxmn NyTINN IR 1Y NHY 13
4p(n) NN NINNY HP NN 1PADN PN ,NOY 1AV m AYTHINN

NNYA 7 AR PIAY IWAN D N0 ANPN KD DON HY DPNIYNIN NN NINO
¢ MNVYNI NN TN IRNYHN PIND

n=pq=(2q+1)qg =2¢* + ¢ = 60031

9900 NN ¢ = 173 0NN TRr pay —EEV 200080 — ZLE693 908 5w 15 ww
wn)=((p-1)(¢—1) =59512 95 .p = 347-v XM pyav

DIPIMON NN YN .d NIX 2YN) N2°NN ,NOY AV NYyTINN DX NINND 71D
aANIMN OTOPIN

(p(n),e) = (59512,4761) = [59512 = 12 - 4761 + 2380]
(4761,2380) = [4761 = 2 - 2380 + 1]
(2380,1) =1

DN TPNRN DWNN
1=1-4761 —2-2380
=1-4761 —2- (59512 — 12 - 4761)
= —2-59512 4 25 - 4761
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Discrete
logarithm
problem (DLP)

Baby-step

giant-step

cd Aptnn AN 2AVN) NYTNN DN N9 T .d = et = 25 (mod 59512) 199
125 .25 = 110015 »> 95t .01 NtYa

22P) NP2 OPNNHN OPINDNN NIANND

—_
|

=c' =19033 (mod 60031)
)2 = ¢ =19033% = 28035 (mod 60031)
c-c® =c*=19033 - 28035 = 34627 (mod 60031)
(c-c®)? = = 34627% = 29966 (mod 60031)
%) = ¢'? = 29966 = 17458  (mod 60031)
22 = ¢ = 174582 = 4377 (mod 60031)
c(((c-c*)??)? = ¢* = 19033 - 4377 = 44444  (mod 60031)

m = c? = 44444 2on nyTinn 199

PIDN-29%T DNINONY 19TAN DNININ Nya 8.2

WVNN LA = g® I g € GO .nman Gonn (TN onanon n»y1) 8.4 vya
mMaNay 1anon  og, h-1 PINON DX OOMDN A JMINI T NN NIND NN
YR PTY S TIND D23 19IN2 1NN DN NN WNND 1) ON IDAN  NINDIRNN

2 DN NINDD (1729907 NN MNAY NOAY NI T NPIDD) TIND

TIOPNN NNIANA PO NYWYND NPOW TTIN DMON DYV 25 MY 8.5 YD
SY MNNN TIT  NVSNMION N T IMND NPOPNN MMIAND YOV MY (g)
7PYaAN NN TTAN DNMON NYYA PYaAN PINS OV OVIPN X Yapn nMann
MPNN ,NIANN ,MNNSN NASNN 1D ,MAT NPIINVIP NP2 DY DDA VPN

DP9IMVOIP 212 NVNPNN NPOVIYT

DIINON NPYAD NIV NPNA RO NN Z,, TPNNN DNANN DIND DINT 8.6 NNT
-1 =0 150 NN yan g = 1 orv 29 v Z, = (g) M .TTIaNn
DN TP PNIIDNY PYIAO 190N NIN ORIV PN -0 0D 29 v .z (modn)
Ly, OV

DYONINY NN NN ,A0N DTN 1 INTIV NN DOV |, Z, DV TPPNIDN NNONN
Tg =-V IO NINND N DR A € Z, Y2 g # 1 . vnn pnad
AVND Y IMRY g1 9995 090 O 199 L(g,n) = 1 3 WY T A (modn)
. = hg™! (modn) XN PNINSN 125 .MPP2 DTOPIN DMION NIty

WY NIXRINY TTIAN DNPINDN N1V DY NAPNN 1N L(PIY TYN) TN) 2TYN) 8.7 THYV
oV N2WNN MNANN PRI NINID NOPNNN NJOINNNN DT DIVNIS NNIAD
N90 YNV ¥ DPNIDTIT DI9DNOY NN NOPNNN
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Diffie-Hellman
key exchange

o= g% M n AToNn G = (g) MOPN NMIAN NI L,0TPN MO ,iyad voPN
0<i,7<mMmyz=im+j02950wn,m=[y/n] P03 .0 <z < nNnovYMN
120 .m D022 & NN XD MDD .DNYOD

h=g"=g"" =(g")¢

TN YY) ¢ TN IR Pon 0 < § < m 939 Nav NYav mMa Dy NM
DIPINON NRY g™ NN AWNI 191 INKRY .(¢7 295 2132>) NYAVA JONNY INTD Hy9a
a ORD T 0 <4 < m DY INIDA . < h MNWYN SNNRN ,ANNNN OTIPIN
NY ON) ,x = #m -+ § N2WNN DX N o = ¢7-¥ T2 j 0”19 DX 19209 Y
SINDIDA DRI TPNIOIND (PIVD OTYN) a <— ag” ™ DY YN

AN NPIDVD NN NNY 9N |ND XTD m NAY NNV TIY NN J210D N2
9200 MNay O(m) Y¥ DIPNn NPOIVD W NN DIIOROY YIP) 5 .0PNIM
MN0 03 WON .0 < i < Dy 8T NaY NN May O(2) SV i nrovo)
STOON YTYN DY DN ,PIYn MTYN NN 19202 DIDNND NAY NP2
g =T DRIV O NN G = Uypp nMannv pnwrd 101 05 135 n) .8.8 Nt
79 2 Y N8N n=o(7) = |G| = p(101) = 100 2wn5 Sp 195 .N5W I8P NN
.h =88 =7" (mod 101)-v

0 < j <m My ¢ mpnn 95 nx avny .m = [v/100]| = 10 o

jlor 2 3 4 5 6 7 8 9
P17 49 40 78 41 85 90 24 67

NNY2 W) ,AINININ DTOPIR DIINON 295 71 = 29 (mod 101) 2awny 13 m>
g " =T7"10=29"0 =14 (mod 101) NN N¥N) 127 DY 2WN
.12V PIYN NIV N8N KD o 00 25 ooy 2 = 0 May .a + 88 HNNN
12202 MV NV RNNI RO  PYOY D) .0 = 1 0y Pwn a < 14a = 20 2vn)
WO a0 NRYND § =4 N2y D 20 OV 4 =2 DY YN a + 1da = 78 2w
88 = 7% (mod 101) »> XTNY ™23 9M 2 = 10 -2 + 4 = 24 135 .NY202
-5 oRaD NYRY NADN NNIN D30 VINY NNN DY NAVWNY NY20N

295 1N N TN G = (g) MOPY NNIAN NN L(1ISN-9T HIPI1ID) 8.9 THYV
(PPN MO0 GINND INY) TIND T ONWNRI p NAY U, NN MNAY 52pn

NNamY a € [2,n — 1] >yav 1901 XINY PTID Y09 NNAN ¥ NYIL YINWN Y35
29MYN MO 0P INTY ;12 DX, DVNNYN MY PN .¢% (modn) NN

N N2 N9 NI g% (modn) NOYW MDD NNIND NN 212D NNOWY DOX .1
.g° (modn)

(g")" (modn) NN 2wnn 1 .2

(g")" (modn) Nx NavNN DHYN .3
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Carmichael

number

Strong witness

Miller-Rabin

primality test

9% (modn) 9mwnn MON DY MYNIN PAYNS DN DITTN DY NYd

9 RO INPTIODY ATV XD 2 OOX DY OTION NNanNN TONNA .8.10 WY
LTONDY NMIYSN NNON DX NIANNN NNV AYND 1N’ DD IV KN DIPINIOND
IN) 2120 N DOND TITA IMRNNND 21D 9PNy N NNX NN NIAPNN MNAD W

I N9PNN NYINO DNIOMND INY DNPIVINND DVYNNYN SY19a 109 ,(DN)IYD

p = 2301 (TP MITNI) DHVP DI90N DY DNPINONN NN Y7 .8.11 HNNT
Uss = (5) 98y 9n2)

b =15 90 22 .55 = 8 (mod23) NN 2129 NSWN P9 ,a = 6 NY N DON
2121,19% = 2 (mod23) 2wnn ©ON ny> 5% = 19 (mod23) N ©ORY NSV 199
815 =2 (mod23) avr

WIVN YN 9

NPNVYNRI NPITAY 1P29-99) DNIOR 9.1

DIPIVOND  .OPYIV DI9DN HY NPNVYNI NPPTID Y19 DNINON PN Nt P92
NUI MINN 1980 MV LD T DY 1976 MV NMY YOD1NIVT NI Y NPNN
N .TPON NN NN NPMIAN0NN NON P27 2T DY DIPININD OV IPMIIAN0N
TPNIVIND NMNOI MMONN ,NOMI MIANDNA AR ,MNXTNA MNYNI 190N DO NimnN
JNUNID 2299 7901 DY DY PIAON NN OMMANONRA (MNN)

MYNNYN TN VYND DT DIADN DY NPNVYNRI NPPTAY NN O]
Baillie-Pomerance-Selfridge- o moNa N ,127-990 DPIMON Y MNDA
> oy wonn o IMoNN OpenSSL n»190a Swnd  amx 5oonn Wagstaft
D INNND DX INT DIRND NNDND L YIPA ,MPNIND 0N9Y

P ORY NYVIN NNIO DY YOPN VIYNNIY NIN OIMPINOND D022 NMIPYIN TN
N-5 %0 a 93 vayw N 219 79010 .a < p 959 a’~' = 1 (modp) W IWNA
P79 79010 MY NN NNPY 1IN 2990 wov XIP) ¢V = 1 (mod N) o»pn
O 0N YaN 9PPNRIP 1900 NPOPX PP .a” = a(mod N) o»pn a 935v N
AOND ©I1901D D) MMD NPONN PAI-I12N OPIMONR 0Ty

OOV VNV INOR M AWRD N—1 = 2°-M »8) ONWRI N > 255 o))
ox L(Fy 2200 nTva 22 — 1 ow9an Sv oww) +1 p7 on N o 1 Sv
(N —1)/2 ox nys .£1 20 aV=D/2 9w pn wnwn eVt = 1 (mod N)
W aM = 1(modN) 0P NIONa WX 27 YW nNPS Pwnnd 5o an
APV M TN ONX 995 N May anwds 0 < j < s My a?M = —1 (mod N)
AWAN L9 N M2y (N SV NPAIYNID IR Y NN a 9900N0Y I0N) D7PN0D 1DND
N Sv opwin o7y on N — 1 Ty 090100 19 Y27 IN»n 900w oD

YOIPN k£ 90nI) N > 3 oyav 190n XN VOPN .(PAI-100 DIPINON) 9.1 THYV
ANANN PYT DX

MYNI N 901D3) MNYUNT IRID” NINNY 19 MY N OX 7p19” XD voaN
P19 N0 47F 7yan nomin mHanona N
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https://eprint.iacr.org/2018/749
https://github.com/openssl/openssl/blob/master/crypto/bn/bn_prime.c

a € NIPNX T90N N NN NPXTAN DY ONYS k INIDA INN) DY NRNMY
ax=aM avnn [2, N — 2]

2oM , N SV NOIVRID PN Ty NN a IR, N T —1-D N 1-D 9pw & ON
JTON OXTYN DRODA DY NINAN MNIOIND TYNND

NN NPXTAN DY DMYs s — 1 ARSI N ,NINN
2 =22 awn)
Jpa” Vo9 NN VN o = 1 (mod V) oN
.DTYN INDY DY NRIAN PNIONRY Nayy ,x = —1 (mod N) oX ,nINN
—1-2 5w nO a?M N S 2o99” PNy AN, D970 IRDIDNN NNY NY ON
0< <5900
INYNRT NN PN D2Y0 NPNIVIND £ 9D NN NIAYY NIPna po

N-v Dyan 9901 2IWND NPNN PPN MDANDN NIV 12N (MYI) 9.2 9990
>3 N DV FPANYIAN MINNN NOA ¥ DI9INT DDIN 110D INND MDD .2-2 Ponnn
.S TN NINDD

N L2007 ONNTIN PNAYM DN NNYA NIPTNA IROYN DY DLW YNNY) ON
5y Yt NPDO NN 19w war .O(klog® N) non omanora Hv yatn N1
N 5% NPNHYRIN NN PITAD NIV NTYN .INY ONOMNND DNIPINONRI VDY O
MO YNIVTN NONN N AKS 0mmoN Swnd) log N-1 3519 Ninw ¥ nta
LOPNYNRT DNIND OI9D1 21190 NNV 7PYA Y ORI (PAI-ID0m) DY

N P2I-0D0 DIPANORD ODYNIVT DO ,NOOMNN I NIYYN NNN
NPNYRIY P01V NN [2, min(N — 1, [21n* N )] yopa sy20 1900 95 080 1729
P72 90N JOP N May AN NN Oy ANy NN o LN Sv
LDXTY OV YOP 2T 1901 595 7772

5s=2m95 .N —1=220=22-55 NN »¥) .k =21 N = 221 rn>) .9.3 "mnt
M = 559
D AWM .a = 174 € [2,219] DX (MPONIRN TP 299) INIPR J9INA IN)

aM = a®M = 174% =47 (mod N)
172 )20 211 oy £1 19N 47 00 25 Dw)
a®M =174"° =220 (mod N)

NN 174-w X PNVURT NN 221-9 IRY NOR 10Dp 220 = —1 (mod221) 1N
avnN) .a = 137 NN ORIPR 190N OY Nyd NON 221 SV NYIVYRID "py Ty’

a®M =137 =188 (mod N)
a®M =137"°=205 (mod N)
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https://en.wikipedia.org/wiki/Miller%E2%80%93Rabin_primality_test#Example

Normal

subgroup

MO 221 5 MP>I9n DY Tyn 137 199,221 D 1m —1 NOP KO DIPNn Iva
221 = 13- 17 N ,"P39” 0 DRPINOND

NIPND N O N — 1 = 780 = 22 - 195 NN »¥) N = 781 r) .9.4 nnnt
D 52y ,a = 5 NN (PIayn TP 2aY)

59 =1 (mod N)
’2 DAy ,a = 17 NN TN OX NYD 781 DW NYHIYRID PN TY NN 5 09D
17"% = -1 (mod N)

781 1991 ,2789 = 243 £ 41 5 19 @ = 2 NN P17 DX PN Ty NN 17 D3 199
781 =11-71 1N ONWUNI N

NHYIN MMIAN-NN 9.2

DYPIM g € G 930 BN ML) N3ININ XYY H < G nMan~nn 9.5 1910
H <G yoymt npna gH = Hyg

DNPY DIRID DM L H < G DNINTDIN DN 9.6 VOVY
H<aG A
gHg™ = Hovwnw ge G997 2
gHg ' C Hovpmw g G997 3
LG KDY TINHDVY) DISWOOW 2w YW R H .4

,3 PY0 NN TN 2 QYD 0D NI .2 PYDO DPY 1 Pyo 0D MIRID OP IHOHPIN NN
293Py g1 Hg C H on gHg ! C H 0N » 25 ©w) »wn oD

H=gg 'Hgg ' Cg'HgCH
L1 .0y mMan Na1Na TN W YN NP2, ONNRND DIN 990 q YPyov NS bP

ON 20 .NYYNIMN N DY MMNANNNN DO WX ,YAN nNan G OR .9.7 Y
NY NYORI OIDRN N2 I RO 1900 g thg =h e Hw ,he H<G
'gh = hg-v 725 NOpv

M NTHNN 9Y NN MR WaR LSL,(F) < GL,(F) o»pnn .9.8 hnnt
ovpmn g € GL,(F) 929w~ ,A € SL,(F)

det(g ' Ag) = det(g™") det(A) det(g) = det(g) ™" - 1-det(g) =1

g tAg € SL,(F) o9
ovaNMMINN YV Py NN NN SL,(F) »d 25 ovh N0 INDNY NN 11T
Ap <0Sp 00w o pon R det: GL,(F) — F*
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https://he.wikipedia.org/wiki/%D7%90%D7%9C%D7%92%D7%95%D7%A8%D7%99%D7%AA%D7%9D_%D7%9E%D7%99%D7%9C%D7%A8-%D7%A8%D7%91%D7%99%D7%9F#.D7.93.D7.95.D7.92.D7.9E.D7.94

(23)((12)) #((12)(23)»mommmnrn((12)) <S5, nMann-nn .9.9 nnunt

H <G ane 2 op1yxn nan-nn H < G onn .9.10 v

MPoNNn PNV PN ,G N2 H SV NYORNDY MPoNn dnY PI W o0 YT X .ONOW
NINNRD TPONNDYN NPONNN N ,a € H AR OX .H NN Mponnn 19 DNX N
MPoNNN SV TINR RN G-v 2Won . Ha 00 NINKRD 73000 Aponnm ,ad NN
paip))

HuaeH =G =HUHa

O aH = Ha 923 9 NN QN 952 TINRNIY 290)

Dy (0)] = 22 =2 DR VOWY 9% D (o) < D, DYPNY .9.11 POV
LSn  An] =2 ™M (A, <S5, DD IRYY AINKR TIT DY v

DN .0 NO 700 K < H ok K G on K < H < G bBX .9.12 Yy
IK<Grpommaoww HaGon K< H

ONIM KY (7) 21PN AN ,IMTIPN MYLn 295 (T) < (1,02) <1 Dy Snd
Dy-2

MMNIAN~NN SV MY VT .man-nn H, N < G v .0man Gornn .9.13 990
n»no
HN ={hn|he Hne N}

HN G H <G qomaor HN <G ,N <G ox IO

HH = H 395 159005 oy H -1 = H 9m95 59115 1900 NN ANaN RO
wYw .HN = NH o9 ,hN = Nh o»pmn h € H 5353 52apy N < G-v »9an
T € Honn € N onrpw RON  Inh = hn NIDNAY IMIN RO MY 25
nh = h'n"-v

DIDNRN BY (MNPN) 120N PO e=e-e € HN v HN # & > 25 oowv)
MMO 7M1 0, € N o h; € H nd v ,mivin Nn7va mMann~nn Sv
:HN 5v n%aon>

HNHN =HHNN = HN

hinihany = hihining = hang
)OMNY MO
(HN) ' =N"'H'=NH=HN
(hn1) ™" = n7 hit = nohy = hn),

HN < G o
VY9 g 'Hg = H o»pin g € G 599w ,H <1 G qona OX

g 'HNg =g 'Hgg"'Ng= (9~ Hg) (97'Ng) = HN

2G-2 nron M H ’OY N RO oX np i LHN < G o)
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Center nNY G NNMIAN DY DD DR 12 5)IN2 DI .9.14 HNNY
Z(G)={g9 € G|Yh € G,gh = hg}

THNY 25 Y .G DN DO 0y DavNNNY (-1 DMIDNRND 9D DY qUIND I DINT
725 27PYAN NIONA NN TPYNM NNANTNN OND YN Z(G) ) Z(G) < G
SLy(R) < GLy(R) May Sund ,NOW 1N

»PYY Jnan 10

oM mman 10.1

H < G nmannn Yv G/a = {gH | g € G} nvonnwn mponnn qoiNa 11amn)
INAN NDIYAN NN DT QOIN DY PTHIND IWIN

(aH) (bH) :== abH € G/u

DTN DN MO NIpna JH < G O P DN (INTY) 2000 NATIHIN R DY
Quotientgroup, ,H-2 ©oMa G SY ™WHYD M3IN NXIPY G/F nmanm eH = H Nin o nMana
or factor group G/H yon o3 92pn H o1m G” NNt XIP) D10y

D 25 OWY nZ < Z D N2 .DOAN V9 [, DOPN NMAN NN Z .10.1 ANt
v ={a+nZ|a €L}y ={nZ,1+nZ,2+nZ,...,(n—1)+nZ}

owon 0 <k <n—119WKRd k+ nZ nMN N 0N * 1NN OIDRD IO
N
(a+nZ)+ (b+nZ)=(a+b) (modn)+nZ

Zlnz. 93 29 wv .k 4+ nZ — k (mod n) npnynn 299 Z/nz = Z, *5 TN IWAN
PO TON DIV Z-2 PR O IR) DNV DIDNRN 0D DVND [ Z DY NNaANTNN NN
NN 2RO VI

G G] =155 3 .G {e} mMmannnn nx v G nMan 95Y .10.2 DNt
Gla = {e} ovromvr v 0191 .G/ = {G} nManNa TNXR IR P W DD
[ G — G HOoromwa0n DvaNMMmIMINN 2D SYNd  1ONN NMaAN-Nn N0 G o
ker f =G 0”pn g — e 29 3TN

[ G/{er = ovammn nw g {e} = {g} N0 m 0N G/{e} NN DINN
MR HP N DY .DPOMION N Mt 0D 0N ONRY RN .g{e} — g 295 G
ONIM NMNANNNA 1™ PN {e} N0 id: G — G MmN Npnyn YY pynnv
G v
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nana onn JH = R x {0} < G-2 yann ,G = R x Rnn .10.3 nony
N NN
G/H = {(a7 b) +H | (avb) € G} - {R X {b}}beR

-0 PND DYAPNN DY 0N DX MDD

D ovpnn H < G nan-nm G oo nMan May .10.4 DD

G|

S/u] =[G : H) = =

| H|
JG  H] =n < 00-v 15 H < Gonm (a0 XpnT Ix9) Nnan G onn .10.5 990
a" € H oo o”pmm a € G 9395 wmom

200 0PN K 90 NMANIY XN TINTDON NNPONN 2 NNN 2D PO WD
Y9 G/H|=n»w 0D .aH € G/H »x,ae G kil =enkeK

o"H=(aH)"=equ=H
.a™ € H nop oo
92N NM2AN NN G/E 0 N 2 opTeND NMan NN H < G onn .10.6 9990

JG/a| =[G H] =2 ypmd .H < GG : H) = 2 DRY 725 1R )N
JPOAN NNV Zg NN ,DVOMMPN 2T TY ,0NUNRT NINY) 2 7TON NN NNaNN
JP9AN AN XN G/a 195

ma 23 n2 .G-2 90 IT0N DIDNRND GO T o nan G onn L10.7 990
Ao T < G N, van G DRY ONXRIN

T <G W (9an G orowvnd) T'< G oN .1

29D ATON TN NN DTN AR G/T nmn nMana ,qona .2
D 0PI g € G935 o(a) =n M ,a € T O JYRIN PYON 0Y 22NN NN

(97'ag)" =g tagg tag...g lag =g 'a"g=e

T <G Mo g7 'Tg CT o9

N0 VTON egyr # 21 € G/T AN D»P 2D NOVA NI VN Pyon May
92pn ,(2T)" =T opmm .o ¢ T 199 ey =T N NP0 AR o(2T) =n
MOV 2" =€ 139 (2")" = e-¥ T2 m 0P IR A0 I1TON 2" ON 2™ € T
Ovnonwax el

W) ,G <G wRY ", T =GN, nan G or T < G0 minonT
YDAN NI 2211 1900 90 0D T = Qo =, 2 N ,G =C" or .G/T = {e}
JODPN ITON NN 1-n v VO TIY DY

46



9N DY DINVONIMIPRN 0aVN  10.2

DIYPNN DPNID> DVIYN DN MMIAND AN DY DNVINMIPND PVIVN NYIDY
D20 DT DVIVYN ¥ .NPONI MNIANNM MN MNAN ,DNVINMMN P2
P PI0YI HNIN LPHDIDNN NIAIONX DY DINNA MHODON D210 0NN D»IIION
DNIVANMPND YDAV PN PWHDYM MIPYN NINY ,)IYNIN DPAMMIDND VAVNI
MPOIND NN AYUNIY OVIDY DD NN ,NVYND  LONTIY2 ON0m DINND NR)

A2 VNNV RN VYN ,NINK NNAND 1IN NNIAN P OVINIIVN

First R f G — H Bommmn .(]1\’)1‘{7ﬂ DVONMITINRD VAVYN) 10.8 VOVY
isomorphism
theorem G/ ker f = 1Im f

Clrere = H W .p: G — H DOHONDOR WV 0193

nandon LH = {(z,y) e RxR|y =3z} nm ,G = R x R »nn .10.9 Y0
Gl =R

WA 3 M9V DY W NN H IomNen mMynwvnd 25 0w LIPURT DR
OPMMN MY INT L f (z,y) =3x —y 09 [: RXx R — R
2w Lf (£,0) =200 ,Dpommon f nwynd

ker f = {(z,y) e RxR| f(z,y) =0} ={(z,y) e RxR|3x —y=0} =H
O TN DX D2P) ,)IYURIN DDONMIDND VIVN 29D
Rz =T oo womn .oad nman w T ={z € C||z| = 1} 90 .10.10 290

3, OPAMMN I L f () = €™ 595 f: R — T T 2w
f (.T + y) — 627ri(m+y) — e27ri:£+27riy — 6271'72% . e27riy — f (l’) f (y)

2wy JaNYYD z € R May e2™@-5 21n29 1) z € T 95 0 ,00amoN 0) NN f
2PV NN
kerf:{$€R‘ez7”x:1}:Z

O R/z =T 92p) ,PYRIN DOINMDNRN VIV 19

tker f nvND 9 " L f: Zyy — Zog DVONIN O 10,11 DN

K| € 95 |K|||Z14] = 14 W& K < Z14-9 YO0 K = ker f 1903 ;0o
MIpn 95 My ;1T {1,2,7,14}

L/ = m f 52p) PNWRIN DOANMIPRN LIV Y'NN XN f N | K| =1 ox
WN 14 9ax [im f| | |Zao| = 20 Y991 im f < Zgg 22 WO 0P Zyy = im f )2
JK| #1199 ,20 DN ponn
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92p) OTIPN VNS M7 N | K| = 2 DX
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K|
JK| #2952 903 20 DR PONN IR 7-v 2910 W)

H = 10Zy nMan-nn NP2y .0t ovammmin 0»p 23 A1 L|K| = 7 ox
Ly — H < Zigg DVONMON MIAN ,Ziog DY (2 970D DNN NNAN~NN PIY W)
9TON NI PYVIY PO )0 md .0-5 oo ,10-D NS 07N ONND ©1900N
K= 7 N NVUNRY

OVAMMIMINN NAY NOAPNN NNt RN K = Zyy 93Py w8 |K| = 14 or
IONRNPION

[im f| = [#14/k] 7

95 AR N (|G, |Ge|) = 1-w 75 oo mMan G-y G NN .10.12 9990
J1 Gy = Gy Dnvammmnn

JIVRIN ODONMIDNRD VYN 290 .oV MMMIN f: G — G 2D N INND
|G|
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Gifier f 2 im f = = [9/xers| = |im f| = [im f] | |G1]
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D YTV

¢=J92z(@)

geG
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D»PNN )0 ON .(NYPOPN8N 19))

G=Jaz(G)

1€EZ
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Inner

automorphism

Inner
automorphism

group

Glz@) o V7 .Z(G) = G BR PV DR W3R G D DY DX .10.14 WHROY
G/zG) = G/a = {G} 3P DD MPV3 D IR0 ROD WX IPS

92 ITIMNN Y, G — G OVINMMVIND .a € G >0 ,nMan G >N .10.15 D910
J2DY HHNO BHOWDWIR NIPY 7, (g) = aga™!

Inn (G) ={v.]a € G}
.G OV DHDMNOD TIDVONDIVIRD N3N NNAPI NN AMANN

NN 80 Inn (G) 29900 Ay, = Y41 9 740 = Yap 22 WM .10.16 993N
.N2590N NYYS Dy

o»pm g € G995 DHNOW
(Ya 0 1) (9) = 7a (1 (9)) = a (bgb™") ™" = (ab) g (ab) ™" = a (9)

PN e = idg 2 2D DV PYNRIN PONN DX DN 19D

a a=! = Yaa=! = e = id _
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,G 1Man 955 0 o .10.17 9N
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Code
Codeword

Linear Code

Standard
generator matrix
Canonical
pairty-check

matrix

Hamming weight
Hamming

distance
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50



Distance DY TP MO ONY P2 900000 PRINND XN TP OV dyin PHODD (11.8 A9
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Ring
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(Two-sided) Ideal

Quotient ring

Degree

Polynomial code

oM N0 (R, 1) .2
0PI a,b,c € R 935 955 .(Pm SNNvN) N80 N 07PN .3

(a + b)c = ac + be, a(b+c) = ab+ ac

(R,+,-,0,1) Dpna R 1 2123 , 172 IWpnn TR

ONT XN NTY N0 onT X C xR md (F,+,-,0,1) n7w 95 .12.2 "t
1D DYMNPN RO NN DIV TN NN NN DIDN NOWAY DD )N NND
DYNY 029N NN DIV DTV IPR ONTNA NINY M0N0 595 NN 0y My (Q)
DMPNAN NN IN,DD27 DAY NN OY Z 1D (D290 DMINRN DD NI D) MTY

DM Hv 595 MmN oy R[] TNXR MInwna 0»wnnn

PYVY .DANNY D PYTA @ R — S DN SV OVaNmmn PTHnD VAN
MMNIANTNN ITPAN NMTY ,OTTISTIT) INTR ORDP OIN DY DVINIMN SV
ON ONTNX NN [ C R >0 MmN ONTR VTN DOWY 71T .MNMana nrdnan
YD) MO NIPNA ri,ir € 1 0P @ € [ r € R 535 72N NnMan~nn NN
MYON My (r) = {arb|a,b € R} N8N 19 XN DX PWRI RIPI ONTR [ < R
N NN PTHIND OIWIND DORDN 7 € R

NNAPN NN 1-5 02 R OV oD N ONDR T < R o 12,3 A9 10
Blr={a+1|a € R}

{la+1)(b+1)=ab+1%>dm (a+ 1)+ (b+ 1) = (a+b)+1 Mnn MNys oy
Ag 4+ 1 20 N0 22N Og + 1 = 1 N0 DOND 12N

NI N2 f(z) YR DD Zo[z] ©mIrdan In Ny TP DO DRI DY
RN
f(x) = apa™ + - 4+ ag2® + a17 + ag

NMAY OV NMA 0N n NPNN NN L deg f NIMoNn L, f OV YYD La; € Zy MY
Ay #0

W f(2),9(x) € Flz] v 01w Fom (019195 mPOpIR Npon) 12.4 twyv
o»pnm degr(x) < degg(x)-v 12 q(x),r(z) € Flx] oPn oomyhs omn»p
S(x) = q(x)g(x) +r(z)

LDOTOPIN DNPINONR OY DM DY 1NN 2N TITN NINP D) IRON

DN PRTPRY ;0 ANPA 939 NN NOYRY DWNS T Yy »8y ZiT-a mop 9
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PN SV S DOINOD RXIPIN m MY g(x) € Zolx] N2 YOWNO Ty
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Cyclic code

Z™-2 N 9190) N L f(2) DIPDIAY RNV MOVPIN NN MOV NNV 1)
q(x),r(z) € MR DP»P 120 .g(x)-2 f(z) - 2™ YV MINY DY PI>’N YNaIN
DPPNNY T3 Zsx]
f(x)-a™ = q(x)g(x) +r(2)

S(@) 2™ —r(x) 20 ndvv mpn N degr(z) < deg g(z) on
v € (g(x)) OX PN OX g(x)|v DX PN O TP NN NN v € Zo[z] N9 MDD
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2O RO PN 1991 KXY (110011) Yax ,mp> 77w (100111) »5 25 oow)

g(x) DI, OR PN OX YN NN g(2)-n KAPNNN MMPNAN TIPN .12.9 WHYV
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D290 NN N
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Wy AVITY Snan 13

NTNHN Nys 131

Conjugates 1MV a € G DD OR DTS /-1 g DIDRY DN .NNAN G oNnN L13.1 DN
NRIPIY AN 95 S MPpwn Nponn v G Sy MY py o pTn M b = aga !
Conjugacy class 2OV TMDOED IPIND
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h=1 g >3 M3 ;MY M DTINNN DNV DADN MY PN ,G MYIN NNANA .13.2 NN
MYV a € G O”p )20 DTN

h=aga' =gaa ' =g

g Y¥ MTNXN NPONN DX PN OR g € Z (G) 7 NwHd nMan G oN 955 19183
{g} on

AP .0 0D TON g € G ,nan Gonn .13.3 9aan
0(h) =nnx,g-9 7MY h € G dX .1
.g € Z(G) nx ,n 7010 G-2 DIVN TY PN ON .2
DMWY

D 25 WY b= aga”t yMmayw a € G 0»p P9 0Ty by g 1
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N0 (h) =m DR W T8 0 (h) < n-v NOM M
g" = (ailha)m =a'hma =e
0(h)=m=n 950792 .0(g9) =n <m PN

AN NN g-v P YaN .o (hghT!) = n 2WUNAN pyon 2ab b€ G o 2
.hg = gh-v 9apn o h-1 9192 hgh™! = g 199 ,G-2 n TON TN
O .9 € Z(G) 991 ,hg = gh o»pmm h € G 535 MNOIN

OV .Zy DX NNPO VAN OVUND  .)0) IPX PYD 953 7NN PoN .13.4 WD
v DN TN 9997 ;15912 DY 30 10D ;0TS XY 0N YN o (l) = o0(3) =4
T0 IMND INR AN

TDND TN 0 ADRND ,D3 1NN L13.5 INT
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.D3-1 3 9700 DYIDR MY PR D ,0NY DTN DIDN Ty PN
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o(ay,ay,...,a)0 "t = (o (a1),0(az),...,0(ar))
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IMNNN INOWD decorate-sort-undecorate NVXWY WP NN MINID DI DPOW
AL,2,..0,n} 5y 12N IMNA MO MMNNNIY IR .NYNP 0-Y 1TON 299 PN
NN MOV P PN nmnn L1 <@ < EnveR My mo= o (a;) 2D n23 ,1IYR)

ONNY PN NNP N DN .o (a;11)-2 m

(O’ (ay,as,...,a;) 0_1) (m)=o0 ((al, as, ...,a) (0'_1 (o (az))))
=0 ((ay,as,...,a;)(a;)) = o (ais1)

DN IPR M 0D NI NI o (ay), ..., 0 (ag) 9Y 72T IMX MO MNNNN 19N
ONNY PN XD XYY IMN NOWN P> PR NN 19,1 <@ <k aNY o (ay)
1991 ,i 999 071 (m) # a; 22 15 DWW

(U (ala Qag, . .. >ak) 0_1) (m) =0 ((a‘1> ag, ..., Clk) (0_1 (m))) =0 (0__1 (m)) =m
O MY MIVINTA MMMNNN XYY INON

T =10 = (1,3)(4,5,6) ,a = (1,5,3,6) mmnn Sg-2 MmN .13.7 99590
N 2VN (2,4, 5)

oac 1
Tar~t 2
,13.6 99110 DNONN 290 IO
cac™t = (3,6,1,4)
rat ™t = (1,2,3,6)
Sp=1((1,2),(1,2,...,n)) (1n2) 13.8 MHPOY

o = DN DIMNN DY ND9ONY NMNX PI9Y  .NMMN o € S, NN .13.9 D910
™MD NN VTN 1y > 19 > - > 1 0,1 NI 0 OV TIND D M) 0103 ..0}
Cycle type (11,79, oy TE) DMTON P-k-N APNO 0 DY DINRNDD

SV NN Man ;(3,2) X0 (1,2,3) (5,6) S oavnnn Man .13.10 T
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2907 DTN TH3D K D7 ¥ DR PN DR S,-3 WIS IWOD MW 13,11 HROY
DANON? MY R? W 3R ,S-3 (4,2,3) (1,5)-2 dnws (1,2,3) (5,6) dWond
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(12N 223900 PON N NPT ¥ OX) DN
D M) T =mor M) LS,-2 MTIE MAMN NV o, 7 € S, NN (<)
129 ;00 OIMNN OV NDAOND T OV MO 0 = 0103 ... 0k

T=mor = TO109 ... 0k7r_1 = (7r017r_1) (7T027T_1) - (7T0k7r_1)
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Partition

553 71729 9P 12 WD ;MNN NN Toy Tt NMNMSAN NN 95 ,0Mpn 9NN b
NOVP OO0 (MO M DN 01,09,...,0% ) MO N DN ORI ONY DINNN MY
TINRD IMND NI IORD OMANIN TAN 91,0 DINNN DY N9 7 DY P9
DN MIAN IMNX 7-2) -5V YN NON .0-2 DINNNN DYV
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v

- 2> D”YAL DI90N DY DY ND NITO NN 1 DY QYN L13.13 D910
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Centralizer

Subgroup
generated by S

S generates G/
Finitely

generated

T-Y 0 DR .DMNND MIAN IMN 7-9) 0-9% NI 0,7 € A, vy .13.16 9N
24,,-2 MmN

N )99 L3 DTRN NN NN Az 0D DYTY DA = 3 NP2 OWNY IND NN
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Simple group

Perfect

Abelinization
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